MAT 221
Extra Practice, Ch 4
SOLUTIONS


10.  Prime factorization of 
24 = 
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11.  Prime factorization of 
50 = 
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12.  Prime factorization of 
64 = 
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13.  Prime factorization of
360 = 
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14.  Prime factorization of 
350 = 
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I am using the prime factorization to give all factors of 350:
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=           350


15.  Find the GCF and LCM of 54 and 60.

The GCF(54,60) = 
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= 6 and the LCM (54,60) = 
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 = 540
16.  Find the GCF and LCM of 70 and 90.

The GCF (70, 90) =  
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= 10 and the LCM (70, 90) = 
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 = 630
17.  Find the GCF and LCM of 100 and 150.

The GCF (100,150) = 
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= 50 and the LCM(100,150) = 
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 = 300

18.  The GCF of 1240 and 1000 is 40. Find the LCM using a formula, not the “table” or factor 
      trees. (This will very likely be the fastest method, since the GCF is already known.)
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Rearrange the formula: 
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so    the LCM is  
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This is the same as 
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The LCM (1240,1000) = 31,000

19.  Is 32,107 divisible by 7? No: split up the last digit and subtract it from the rest of the number. Continue the same way with the result until you see that the number that results is not divisible by 7 (The remaining 16 is not divisible by 7.)
20.  Is 625,786 divisible by 11? No: 6 + 5 + 8 = 19; 2 + 7 + 6 = 15; 19 – 15 = 4. Since 4 is not divisible by 11, neither is 625,786.
21.  Write the first fifteen prime numbers (excluding the number “1”, start your list with “2”)

2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47

22. The missing digit is a 3 since the sum of the digits then will be 27, which is divisible by 9. If the sum of the digits is divisible by 9, so is the original number.
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